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SWBAT write the equation given a graph, table or description.  (A.2C)

	Verbal Description
In the teacher work room there is a coffee maker.  At the start of the year, it cost $30 to buy the coffee for the year, then teachers’ pay $0.50 to get coffee from the coffee machine.   Write an equation that describes the total profit, y, and  the number of times a teacher gets coffee, x.
Equation:
	Verbal Description
[image: ]


	[image: ]Table

	Graph
 Which equation(s) best represent the line graphed below
[image: ]A  	y = (x- 4)(x+2)
B 	3x − y = 6
C 	x − 3y = −6
D 	y + 3 = 3(x - 1) 
E       y = -3x + 6




Independent Practice
	[image: ]1. 
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	3. Which function includes the data set {(2, 4), (6, 6), (12, 9)}?

A 	y = 2x

B 	y = 
C 	y = 2x − 9

D	y =  + 3
	4. The table below shows various values for x and y.
Which equation best describes the relationship between x and y?
[image: ]
A 	y = −3x + 5
B 	y = −5x – 7
C 	y = −x + 17
D 	y = 3x + 41

	[image: ]5.





A    -4x – 2y = -6 
B    y = (x+3)(2x-1) 
C    y = 1/2x + 3 
D   y + 1 = -2(x-1)





	
6. The algebraic form of a linear function is d = l, where d is the distance in miles and l is the number of laps. Which of the following choices identifies the same linear function?
F	For every 4 laps on the track, an athlete runs 1 mile.

[image: ][image: ]G 	For every lap on the track, an athlete runs mile.
H					J  







7.  Which of the following best represents the graph of the equation 4x − y = −5?
[image: ]
[image: ][image: ][image: ]F					G				H				J
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5 Atan arcade, there s afee to purchase s

game card. Any number of credits can then be

adided to the card ata constant cost per
crecit.Jude buys a card with 5O credis and it
costs him 317 Audrey buys a card with

80 credits and it costs $26. How much would
a card vith 75 credits cost?

Record your answer and fi in the bubbles on
your answer document.

Which equation best describes the functional
relationship n the data set?
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The distanca from Abilena to Amrilo s about
285 miles. Which of the ollowing equations
desciibes the remaining distanc to Amailo
fora car that travels from Abllene at a rate of
50 miles per hour?

A y=285+50x
B y=285-50¢
50+ 285
50 285

PerioD

scone

9 Whatis the equation of the line shown inthe.

araph below?

A car rertal company charges a flat, dally fee,
plus a fied cost per i driven. One day,
Bcky drives 50 miles and Is charged $145.

The Wyler Aerial Tramway in Franidin
Mountains State Park bagins a the tramway
Statlon, which i at an slevation of 4692 feet.
Ittakes 4 minutes to reach Ranger Paak,
which s at an elevation of 5632 fest. What
quation s used to estimata the helght £ of
the tramway t seconds aftr tleft the station?
A E=a692- 350

B E=4692+ 35

© E=s623+ 350

D E= 5623 46920
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1 Which equation best describes the 3 Which equation best represents the graph
relationship between the corresponding shown below?
values of x and y shown in the table? v
X y E
-2 -1
o X
0 3
1 5
_ 3 9 X
g Ay=x+1 A y=3+2x
% B y=2x—3 B y=3-2x
H C y=2x+3 Cy=2+3x
3 D y=3x+5 D y=2-3x
é 2 Suppose the total cost, C, of renting a car is 4 Carter sells sports videos to local businesses
£ $25 per day plus an initial fee of $100. Which in his area. His daily wage, W, is based on the
° equation best describes this relationship if number of hours he works, H, at the minimum
3 d represents the number of davs the car is wage of $7.25 per hour, plus $10 to cover gas
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D y=3x+5

2 Suppose the total cost, C, of renting a car is
$25 per day plus an initial fee of $100. Which
equation best describes this relationship if
d represents the number of days the car is
rented?

F C=100d — 25
G C=100d + 25
H C=25d-100
J C=25d+100

Mastering the TEKS, Algebra 1

D y=2-3x

Carter sells sports videos to local businesses
in his area. His daily wage, W, is based on the
number of hours he works, H, at the minimum
wage of $7.25 per hour, plus $10 to cover gas
and lunch expenses. Which equation best
describes this relationship?

F W=10H +725
G W=725H+10
H W=10H + 7.25H
J W=725H
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1 Which equation best describes the 3 Which equation best represents the graph
relationship between the corresponding shown below?
values of x and y shown in the table? v
X y E
-2 -1
o X
0 3
1 5
_ 3 9 X
g Ay=x+1 A y=3+2x
% B y=2x—3 B y=3-2x
H C y=2x+3 Cy=2+3x
§ D y=3x+5 D y=2-3x
E 2 Suppose the total |s sports videos to local businesses
2 $25 per day plus is daily wage, W, is based on the
* equation best de® ours he works, H, at the minimum
3 d represents the number of davs the car is wage of $7.25 per hour, plus $10 to cover gas
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